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• −11 10 2𝑛

−11 10 = −16 + 4 + 1

•

• −11 10 = (10101)2

−𝟐𝟒 𝟐𝟑 𝟐𝟐 𝟐𝟏 𝟐𝟎

Presented? YES NO YES NO YES

Binary 1 0 1 0 1



•
7 − 5 = 7 + −5
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•

7 − 5 = 7 + −5 = 0111 2 + 1011 2

•
0111 2 + 1011 2 = 10010 2

7 − 5
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A B S Cin Cout

0111 0001 1000 0 0

1101 0010 1111 0 0

1111 0001 0000 0 1
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(−3)10 = 101

(−5)10 = 1011

•
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(3)10 0 0 1 1

−7 10 1 0 0 1

310 + −7 10 0 1 0 0

(1)10 0 1

−1 10 1 1

310 + −7 10 1 0 0
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1. Which of the followings is/are NOT true about 2’s complement signed 

number representation?

(a) It can represent positive numbers

(b) It only represents negative numbers

(c) With 2’s complement form, binary subtraction can be achieved using the addition machine

(d) Inverting every bit of a number and adding 1 will generate a negative number
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2. Which of the following signed binary number(s) has/have a value that is 

closest to -1 in 2’s complement form

(a) 10111 (b) 01100 (c) 11101 (d) 10000


